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Q.No: 1 Tomb of Humayun was constructed between-

2427459
T & ThaR 1 fAmfor fareds St fovar wam 1-
1452 and 1471
A
1452 and 1471
1562 and 1571
B
1562 and 1571
1662 and 1671
C
1662 and 1671
1771 and 1771
D

1771 and 1771
Correct Ans : B

Subject : General Knowledge

Q.No: 2 The Roman emperor who brought about the Pax Romana, a period of peace, prosperity, and expansion for Rome?

2427575
A e for R & forg wifa, Tfg ofk favaR @Y orafly o e amar?
Nero
A
R
Augustus
B
ey
Caligula
C
Sl
Hadrian
D
¥R

Correct Ans : B

Subject : General Knowledge

Q.No: 3 The headquaters of SIDBI (Small Industries Development Bank of India) are in

2430651
SIDBI (HRT Y Ie g ¥F) wIigeem __ #§
Lucknow
A
TGS
Delhi
B
Tt
Nagpur
C
ARTR

n Mirsabhai
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Correct Ans : A

Subject : General Knowledge

Q.No: 4 Who was the third President of the Indian National Congress (INC) who also happened to be the first Muslim President of INC?

2432435
R T B (INC) F AR 1eae S & St INC & ugat BRem siedef off 2
Khan Abdul Ghaffar Khan
A
WM 33 THEPR G
Maulana Muhammad Ali
B
T gewie sreht
Rafi Ahmed Kidwai
C
TB} 3 faad
Badruddin Tyabji
D

FEHEH ARt
Correct Ans : D

Subject : General Knowledge

Q.No: 5 Who was the chairman of the Committee on Financial Inclusion formed in 2005?

2434065
2005 ¥ faefir qHIERA W 1 S SRR & sieme dF A2
Y H Malegam
A
S T AT
Raghuram Rajan
B
YR Ao
Abhijit Sen
C
fftrefa ¥
C Rangarajan
D

Kigunccl
Correct Ans : D

Subject : General Knowledge

Q.No: 6  Who among the following is credited for opening the land route between India and Europe?

2435831
Froffea # 3 5 ura ok R & <ta =@ anf diem a1 9 G o 82
Alexander
A
R
Arabs
B
SRe
Egyptian
C
fra
Iranian
D
EL]

Correct Ans : A

Subject : General Knowledge
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Q.No: 7  With which of the following Indian states Nepal does not share its boundary?

2437349
Frofafea # § fow WRda Ioa & A1 e s < e e B o2
Himachal Pradesh
A
e
Uttar Pradesh
B
IW A
Sikkim
C
Rfesa
Bihar
D
feR

Correct Ans : A

Subject : General Knowledge

Q.No: 8  Mand folk song is associated with which of the following states?

2440757
TS < Ma Fafafea § § few o0 & 9afia 32
Rajasthan
A
RIEISIE]
Madhya Pradesh
B
HE W
Maharashtra
C
HERTE
Gujrat
D
ToRId

Correct Ans : A

Subject : General Knowledge

Q.No: 9 Billie Jean King Cup is related to which of the following sports?

2440841

Tl sft7 febrr by Frafdifea & & e @ 9§ weifd @2

Tennis
A

fr

Hockey
B

il

Cricket
C

frde

Football
D

peata

Correct Ans : A

Subject : General Knowledge

Q.No: 10 Who out of the following has become Bhopal’s first police commissioner?
2441020

frfafaa # ¥ a1 Wue & usa vl sftae @3 ¥
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=~ myay vyays
3SRy i
Makrand Deoskar
B
HBYG QT
Nirmal Banerjee
C
et aelt
Rajeev Sharma
D

oitg Tt

Correct Ans : B

Subject : General Knowledge

Q.No: 11 Where did Chief Minister Shivraj Singh Chouhan launch the Chief Minister Aashirwad Yojana?

2441025

T e g e A e ereiafe Aot & gHRY ®e R

Jablpur
A

LCEIY

Gwalior
B

R

Jhabua
C

e

Mandla
D

s

Correct Ans : B

Subject : General Knowledge

Q.No: 12 Who became the first king of Garha-Mandla?

2441136
TG-TSTT F YYH I B T2
Baghel Raja of Rewa
A
St 3 e o
Jadhe Rao Gond
B
Y 3 it
Gond Jadurai
C
s agus
Raja Hirde Shah
D

e ke R
Correct Ans : C

Subject : General Knowledge

Q.No: 13 In which year Atal Bihari Vajpayee received the highest civilian award - the Bharat Ratna?

2441265
e gt Aot 9 wafe TR W YRd 3 o o fiyer e
2010

A
2010

B 2011
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2011

2013
C

2013

2014
D

2014

Correct Ans : D

Subject : General Knowledge

Q.No: 14 Nathuram Premi was an intellectual giant in which field?

2441303
Ty Ut v &9 H O Sife® foe 2
Urdu & Sanskrit literature
A
34 IR wepa Wi
Tamil literature
B
At wiie
Jainsim & Hindi literature
(o}
o ef of i wfeen
Buddhism & English literature
D

W o SR st Wi

Correct Ans : C

Subject : General Knowledge

Q.No: 15 Which of the following cities is known as ‘City of Royals’?

2441369
Froffea & § f5g R &) <igal &1 R (Rt 3w Jae)' ol o 32
Gwalior
A
R
Indore
B
&R
Bhopal
Cc
et
Jabalpur
D
EANEY

Correct Ans : C

Subject : General Knowledge

Q.No: 16 Which of the following national park comprises of three critically protected areas namely Satpura Tiger Reserve, Bori Sanctuary, Pachmarhi Sanctuary?

2441575
Fofifea & @ frw gt 3am & @ 1R T 9 WRida & i §, sriq gagst aevR Rd, S snaRvd, Tend siHaRug?
Bandhavgarh
A
aig
Satpura
B
A

C Van Vihar
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M EETJAY

Sanjay

g

Correct Ans : B

Subject : General Knowledge

Q.No: 17  After the commencement of Constitution of India, the High Court of Indore came into being under the leadership of whom of the following?

2441699
URA & WA F AL IR F 918, IR $1 I e FafifEa ¥ 9 e Aga § offaa & smar
Justice Jambekar
A
SRR SR
Justice Rege
B
e
Justice Hajarilal Sanghi
C
SR geiar Wit
Justice P. K. Kaul
D

sRew . . a7

Correct Ans : D

Subject : General Knowledge

Q.No: 18 Who was the first woman judge in the High Court of Madhya Pradesh?

2441719
A9 YW & I ey # gedt Afgen amdie s ot
Jaya Roy
A
ST I
Manjula Chellur
B
e IR
Sarojini Saxena
C
TR TR
Anna Chandy
D

3 =i
Correct Ans : C

Subject : General Knowledge

Q.No: 19 Former Governor Anandiben Patel, had held dual charge of Madhya Pradesh along with which of the following state?

2441776
d TSI A Ied & U A F I 5T I & Ty el U 1 G5’ YHR AR
Uttar Pradesh
A
IW W™
Maharashtra
B
HERTE
Chhattisgarh
C
ERinucy
Jharkhand
D
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Subject : General Knowledge

Q.No: 20 What is the major cash crop of Alirajpur district?

2441789
SRR e & v At o B 0 32
Watermelon
A
RiES
Custard apple
B
Riil
Grape
C
IR
Banana
D
FaTr

Correct Ans : B

Subject : General Knowledge

Q.No: 21 World Diabetes Day is celebrated on-

2423026
fay myde e wmm S 3-
13t November

A
13 TR
14t November

B
14 TR
15t November

c
15 4R
16% November

D
16 TER

Correct Ans : B

Subject : General Science

Q.No: 22 is like a stretched rubber sheet.
2425778
_ wREER i e
Pinna
A
Hufreht
Tympanic cavity
B
TR TRT
Eardrum
(o}
BT BT WRaT
Inner ear
D
it B

Correct Ans : C

Subject : General Science

Q.No: 23 The force and are mutually perpendicular to one other.

~ameam~


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

ECiind RER & T & daad gl
Altitude

2

Magnitude

g

Displacement

fams
Rate

«
Correct Ans : C

Subject : General Science

Q.No: 24 Which of the following is not a characteristic feature of bilateral symmetry? (Midsagittal plane)

2429849
frofafea ¥ & 91 ey Tmevar 3t faSvar 781 82 (3 o famm)
limbs and organs are paired
A
T SR 3T B ST S ®
cephalization is present
B
SpaES A &
earthworm and fish
C
Frgam SR ASH
unequal symmetrical
D

S WA

Correct Ans : D

Subject : General Science

Q.No: 25 Fungi resembles with animals because they possess -

2429864
e THaR 3 el e § i 99 o § -
mycelia
A
T
chitin
B
PrEIA
spongin
C
wRF
glucose
D
S

Correct Ans : B

Subject : General Science

Q.No: 26 Observe the figure given below. The organisms belong to -
2429885
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A Rg g o @t e § 3Rw) i & WA @ -

phylum- Platyhelminthes

A
BIgeH- WA
phylum- Annelida
B
BTEEH- GAfRrST
phylum- nematoda
C
BrEEH- TS
phylum -Molluscas
D

BIEaH — T
Correct Ans : B

Subject : General Science

Q.No: 27  Which one of the following is the odd one out?

2429953
Fafifed § 3 37 W w v 32
choanocytes
A
g
porifera
B
QRERT
sponges
c
s
nematocysts
D
SPIRET

Correct Ans : D

Subject : General Science

Q.No: 28 Which one is incorrect about the fuels we use in daily life?

2430084
3 Shta & TR R ITE 5T 9 a1 $o & R F B W e 82
Coal
A
P
oil
B
Eod
Wood
c
Gzl
Paraffin wax
D

afte A

Correct Ans : D

Subject : General Science

A NAe D0 fm blaa foial mmanbhs cimad ki mcialame alanba fav mrialane fanian
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ctousLser

g 34 ¢ FOrIeT IUENT SIERR WRATY] o gRT oRATy] s & fore fosan st &1

Radium
A

Weaw

Uranium
B

R

Coal
c

Eaunl

Potassium
D

reRmm

Correct Ans : B

Subject : General Science

Q.No: 30 william Cullen is credited with the invention of -

2431668
faftram e 3 e snfIepR &1 47 o i &2
Air conditioner
A
TR $IIR
Refrigerator
B
WpeRex
Chimney
Cc
el
Automobile
D

i

Correct Ans : B

Subject : General Science

Q.No: 31 Plants generally take up nitrates and convert them into which are used to make proteins

2431687
T 3 IR R Agee o § IR ST ¥ uRafia =d § St WeH S & g ST e o §
carbohydrates
A
PHIERSE
vitamins
B
e
amino acids
[
ST ot
glycerol
D
frrerte

Correct Ans : C

Subject : General Science

Q.No: 32 The bacterium called can take atmospheric nitrogen and convert it into a usable form.
2432168

e ity AR TIgesH @l faag el § tRafda ex 3 R |
A E.Coli

GET IT ON
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Re Wi
Rhizobium
B
RETicen
Citrobacter freundii
C
WEERRR Wit
Listeria monocytogenes
D

fereefear ArEEESR

Correct Ans : B

Subject : General Science

Q.No: 33 Yellow vein mosaic disease of bhindi (Okra) is caused by which of the following micro-organism?

2432212
it 1 dhen RR1 Avie 3 i # § foa ger e & SR g &2
Virus
A
A
Fungi
B
Pab
Bacteria
C
SJedifen
Protozoa
D
Wreitan

Correct Ans : A

Subject : General Science

Q.No: 34 Where is the headquarters of the WHO located?

2434271
I3, (WHO) &1 T gl Rya g2
Paris
A
R
Adelaide
B
W
Geneva
C
forrar
The Hague
D
CEl

Correct Ans : C

Subject : General Science

Q.No: 35 Which of the following is an example of congenital disease?

2434286
Fofefea & @ S T I 31 IR §2
Urinary Tract Infection
A
A Y HHAU
Osteoporosis
B

SRR (SRR
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oW Syndivine

s Rigm

Tuberculosis

TR (.4
Correct Ans : C

Subject : General Science

Q.No: 36 Find the wrong term in the series?

2422623
6, 24, 60, 125
el H ITerd $HH BT Tell a2
6, 24, 60, 125
6
A
6
24
B
24
60
C
60
125
D
125

Correct Ans : D

Subject : General Reasoning

Q.No: 37 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.

2426305
SKIP : RIFL :: KYKZ : ?
T HER-THE BT TGT Y W) Y HeR-THE O I PR el & SR GO SMER-UE, URd Si4R-THg ¥ Wafd 1
SKIP : RIFL :: KYKZ : ?
WIHV
A
WIHV
WIVH
B
WIVH
IJWVH
c
JWVH
JWHV
D
JWHV

Correct Ans : D

Subject : General Reasoning

Q.No: 38 A cyclist goes 30 km in the north direction, turns towards east and travels 40 km. After that he turns right and goes 20 km. Finally, he turns to his right and goes 40 km.
2426364 Accordingly, how far is he from his starting point?

TF ARfFa aae 30 fFanfier W fexn & o, gd 1 ok quaR 40 e S 21 3% 918 98 &y gHaR 20 fheimHieR Sl §1 sia:, 98 oU 3 9k gHaR 40 fFamiex o 31
AR, T8 307 URMYS R § fvah g W 32

20 kms

20 fFarieR
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10 faarfier
25 kms

C
25 fFamieR
40 kms

D
40 faiiex

Correct Ans : B

Subject : General Reasoning

34"‘2% 43397 Select the option /number which is related to 3" number in the same way as 224 number is related to a
1t number?
174 :297 3346 : ?

3 TEAT /AT 1 797 F A WY TEW A 3 GFER Tad § HA¥ gEY TEA Tgel
& ¥ gEfoa gl

174:297 11346 : 2

458

458
469

469
400

400
397

397

Correct Ans : B

Subject : General Reasoning

Q.No: 40 In the given diagram, The Triangle represents sugar patients, The circle represents male, The square represents heart patients and the rectangle represents cancer patients.

2426564
m
7 /14 1 \6

/\“/n\

How many male patients have sugar and heart problems but not cancer?

e M e #, Bys IR Wfid @1 viaffia F=a 8, 39 79w o1 ufofiia o 7, of e At a1 ufafiitc SRar § ok smad SR A @1 gl e 31

/ﬁ\

[\

e goy AR B PR 3R g2 I T ¢ AfeT W T 82
10
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29
B

29

16
C

16

19
D

19

Correct Ans : D

Subject : General Reasoning

Q.No: 41 In the following question, a certain series of numbers or letters is given of which one series is empty. You have to decide which of the alternative series of the answer will be
2433146 sed in the blank space that is originally related to the sequence of that series.

L144, M169, N196, 0225, P256, ?

Frofefaa uy &, Temsh @ el @t ue Rid gaar & 7 R, SR St e gl §1 3US) 98 99 FE § 6 g9 w0 ¥ 39 Juar ¥ owd § Ui g wH § 3| 3t oF WO deius
4 BT IUAN BT Smem

L144, M169, N196, 0225, P256, ?
Q287

Q287
Q250

Q250
Q289

Q289
Q290

Q290
Correct Ans : C

Subject : General Reasoning

Q.No: 42 Identify the figure that completes the pattern.

I
\J|
A

L

I9 P P UgaH B S Yo B G Bl g

I?
S|
A

][l
\/
\

° |
\
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(_

(g ((E

(_

Correct Ans : B

Subject : General Reasoning

Q.No: 43 Select the figure that will come next in the following figure series

2434140
Z # TA|l
I o\é\ 2 /|

I P 1 T TN St Fufelda snpfa ggen & om smeht

# O
0 # ?

/#‘Vo V /

\31

|
V# .
N
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i

Correct Ans : C

Subject : General Reasoning

Q.No: 44 1In the following question, select the odd number-pair from the given alternatives.
2435071

frofafed wy & iy T faeedt & & fawn S gm &1 3wl

15-21
A

15-21

12-17
B

12-17

8-13
C

8-13

34 -39
D

34 -39

Correct Ans : A

Subject : General Reasoning

Q.No: 45 Identify the diagram that best represents the relationship among the given classes.
2435700

Terrestrial planets, Jupiter, Saturn

I ARW P} UTH X o 3T T AR F g Fey 1 we ot A wRar 1
wefta 77, gewfa, wf

OO
O

OO

—
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Correct Ans : A

Subject : General Reasoning

Q.No: 46 How many squares are there in the following figure?

2437699
[ ]
Fufefad erefa & fvam o &2
[] [ |
26

A
26
38

B
38
32

c
32
40

D
40

Correct Ans : C

Subject : General Reasoning

Q.No: 47 Select the option that is related to the third word in the same way as the second pair is related to the first pair.

2438378
Medicine : Patient :: Fuel : ?
I ey &1 797 B W) IRR TIsg A S YR Faia @ SR gk g U g  eifid 1
<an S ?
Wood
A

awg
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ST
Heat
G
o]
Smoke
D
yait

Correct Ans : B

Subject : General Reasoning

Q.No: 48 qyrabhi, who is facing north, tumns 90° in clockwise and then 135° in anticlockwise direction. Which

2438507 direction is she facing now?
WA, S 7@ seak 1 3R ¢, 900 gfaomad R R 135° ammad feam & @5 1 ag
g g fGm 1 3R 37@ 7
North-east
A
IR
North-west
B
IWR-uEH
South-east
C
afeyor-gd
South-west
D
Slgm-ufgm

Correct Ans : B

Subject : General Reasoning

Q.No: 49  Select the odd word/letters/ number from the given alternatives.

2438930
fog g fawedt ® & foww ez sierl/<em ot ghul
16, 32
A
16, 32
20, 40
B
20, 40
64, 81
c
64, 81
81, 162
D
81, 162

Correct Ans : C

Subject : General Reasoning

Q.No: 50 A's father is B's son. C is the paternal uncle of A and D is the brother of B. How is C related to A's father?
2439299

ABIRABSITIRIC, AST I § 3R D, B &1 HE 21 C, A & a1 A 5w upR Gafd &2

Cousin
A

TR W

Brother
B
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o [
e
Father
D
e

Correct Ans : B

Subject : General Reasoning

Q.No: 51 Choose the group of letter which is different from other.

2439477

3feRf & 39 g B I S 3= A A R

IKM
A

IKM

TRP
B

TRP

0Qs
c

0Qs

TVX
D

TVX

Correct Ans : B

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two
2440195 statements are logically consistent with the main statement.

If you lose in game, you learn a lesson.
A. you lost in game

B. you did not lose in game

C. you learn a lesson

D. you did not learn a lesson

U T uy § BT FeA SR ITS A1 TR FUA &1 FUA BT BT T I, T U5 B BT A R BYF A g, 9iR & HUF difh T F TBT YA § W T
IfE 3y ¥ & R 914 g, < 217 Th Jaeb A g

A, 3T G H R 1Y

B. o9 ¥ & el g

C. 319 T F9% iad §

D. 31U Te gl i

AC
A

AC

BC
B

BC

DA
C

DA

cD
D

CcD

Correct Ans : A

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two
2440294 gtatements are logically consistent with the main statement.
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11 YUU UU PUSL ylauuauull yuu Wit EL HHIUIE UPPUIUIuUeES Ui Juu.

A. you did post graduation
B. you did not do post graduation
C. you got more opportunities for job.

D. you did not get more opportunities for job.

fow g vy § 9@ FUA SR IS 9] TR FUA 1 FYA! BT B0 G T, T8 T8d HUH FT Al G FUF 9 B, IR & HYF Aifhd w4 F 98I FUA F 94 2
I ST URe AU T ¢ dl MUl At F i efawr it

A. ST e eRr e

B. 307 URE AU T

C. 3 A8 F fF s@EeR |

D. 3TUH! A F e @R Te¥ |

AB
A

AB

BA
B

BA

DA
C

DA

DB
D

DB

Correct Ans : D

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two
2440367 statements are logically consistent with the main statement.

The doctor is either a gynecologist or an orthopedics
A. The doctor is a gynecologist

B. The doctor is not a gynecologist

C. The doctor is an orthopedics

D. The doctor is not an orthopedics

fau M gy B 4@ HyF SR IS 918 TR TUA §1 HUA BT G ZH A, Tef Tgd HUT B add gk U I §, R < FUA dfhd FY ¥ T FUF | T 7
Slaex 71 a1 %t I ey gt I fadiew €

A. S &l I v §

B. Sfaex it I fadmw T R

C. IR T 7yl I fadww §

D. Siaex T3t I fadw 7 @

AC
A

AC

DA
B

DA

CcD
C

CcD

AB
D

AB

Correct Ans : B

Subject : General Reasoning

Q.No: 55 Find the related word from the given alternatives.
2442026
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cat . Al

fow e el & wafia <eg 91d H
| ;@ fer
Contract : Clause
A
SEY 1 YRT
B Win : Won
ST : St feram
c Unreliable : Inhuman
D Food.: Hunger

1yg
Correct Ans : B

Subject : General Reasoning

Q.No: 56 gimplify-102- +{7+(7+28 =
3423303 Simplify: 102-[19+ {7 + (7 +28 +7 x 3)}]

TRA BINE 102 - [19 + {7+ (7 +28+7 x 3)}]

57
A

57

53
B

53

52
C

52

51
D

51

Correct Ans : A

Subject : General Maths

Q.NO: 57 Girntif- 1702 170 < £50 < (S < 6 =
AP IS Simplify: 170-[70 + {50 + (8 + 6 + 3 x 3)}]

WA BINTE: 170 - [70 = {50+ (S = 6+ 3 x 3)}]

40
A

40

33
B

33

35
C

35

34
D

34

Correct Ans : B

Subject : General Maths

Q.No: 58 In how much time would Rs. 62500 amount to Rs.78400 at 12% per annum compound interest?
2423650

e T & 129% fd 9 Tmafs 9 Ft X F 62500 FUA, 78400 U T SIT?

13 years

GET IT ON

Google Play
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15.5 years
B

15.5 3¢

12 years
C

12 af

2 years
D

29

Correct Ans : B

Subject : General Maths

Q.No: 59 Three years ago, the population of a town was 99100. If the annual increase during three successive years be at the rate of 17%, 18% and 20% respectively, find the
2423665 present population.

o T Ugd, U@ RTeR Bt SFeRe 99100 4t A i wiiw auf & SRA aiffe aiS FER: 17%, 18% 3R 20% 3T X ¥ gt 8, @ auH S g S

Rs.1789.381
A
Rs.1789.381
Rs.164180.952
B
Rs.164180.952
Rs.5436.675
C
Rs.5436.675
Rs.1567.7678
D

Rs.1567.7678
Correct Ans : B
Subject : General Maths

Q.No: 60 Solve:

2428631
[5.2 x 3+ 26.1 +3-225.5+ 5+ (55.55 + 11 + 26.2 of 3 - 78.7)]
ukas
[5.2 x 3+ 26.1 +3-225.5+ 5 + (55.55 + 11 + 3 &I 26.2 - 78.7)]
-15.85
A
-15.85
14.85
B
14.85
15.85
C
15.85
16.85
D
16.85

Correct Ans : A

Subject : General Maths

Q.No: 61 The average price of three items of furniture is Rs. 15000. If their prices are in the ratio 3:5:7, the price of the cheapest item is :

2432580
TR 3 i axgelt 3 Sivia BiHd 15000 I 71 G I P MU 3:5:7 H €, 6 TI9 WK g T Y NG ?
6000

A
6000

B 7000
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Faviviv)

8888
C

8888

9000
D

9000

Correct Ans : D
Subject : General Maths

Sasa701 Find the value of 5 @-3 If 52=3125:

5 @-3) If 52 = 3125 BT {H JTd DIIT:

25
A

25

125
B

125

225
C

225

1625
D

1625

Correct Ans : A

Subject : General Maths

Q.No: 63

1
2434751 Ifx? — 17x + 69 = 0, then find the value of (X - 7) +

(X—-7)2:

S ) I S .
- 17x+69=0%.a "~ i A FId B0

9
A

9

13
B

13

7
C

7

11
D

11

Correct Ans : D
Subject : General Maths

8};\:‘,‘276:1 If o and [ are the roots of equation 2x2 — 3x + 4, then find the equation having roots o2 & B2

& o 3 B AT 2x2 - 3x + 4% HA &, AT 3T FHROT A AT H oTH 7T
23R ﬁ2ﬁﬁl

4x2+7x+16=0
4x24+7x+16=0
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4X“— /X T 10= U
4x2-Tx+16=0

c 4x2+7x-16=0
4x2+7x-16=0

4x2-7x—-16=0
4x2-7x-16=0

Correct Ans : B

Subject : General Maths

Q.No: 65 By selling a plot of land for Rs 15,000 Sanjay loses 10 %. For how much should he have sold the plot to gain 20 %.

2435226
15,000 U7 § 4ff] F1 Wi JTH G BT 10% I I SRl 81 20% T U R & 1Y I wife &1 forat Fud F Sa1 =nfeul
Rs 12, 876
A
12, 876 ¥90
Rs 24,890
B
24,890 ¥0
Rs 17,865
C
17,865 ¥04
Rs 20,000
D
20,000 9

Correct Ans : D

Subject : General Maths

Q.No: 66 Amit sold a book at a loss of 20%. If the selling price had been increased by Rs.100, there would have been a gain of 5%. What was the cost price of the article?

2435246
3 20% B T W TP G o) Ife f5pa 7w & 100 9T 1 3 g3 BIal, T 5% 1 1Y Tl G¥g BT 554 T T T2
Rs. 400
A
400 ¥1
Rs. 200
B
200 ¥9
Rs. 300
c
300 ¥00
Rs. 350
D
350 ¥

Correct Ans : A

Subject : General Maths

Q.No: 67 Sajid sold a table to Govind for Rs.4000, who further sold it to Salim for Rs.5000. Salim sold it back to Sajid incurring a loss equal to 25% of the profit earned by Govind
2435306 \yhile selling it to Salim. What is the final cost price of the table for Sajid?

e ¥ Mfde 1 4000 T F U AT FR, R S o1 Telm $1 5000 I & §9 1) w6 3 38 909 TR 1 99 f3an iR 30 T 1 399 | 0dE gR1 fdfa @ F 25% & IR g1
51 v & forg A &1 sifaw arTa e @ 82

Rs.3750
A
3750 9
Rs.5250
B
5250 ¥4
Rs.4750
c

4750 T
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n>.040u

6250 T
Correct Ans : C

Subject : General Maths

Q.No: 68 Which among them is unlike fraction.

2437484
AH ¥ o1 1 e 7 82
23 4
5’7’9

A
234
5'7'9
23 4
s’s’s

B
234
5's’s
22 03 04
2’02’02

C
22 03 04
02’02’02
111
s's’'s

D
111
5’s’s

Correct Ans : A
Subject : General Maths

Q.No: 69 What must be added to the product of 0.3504 and 0.7486 to make it equal to unity?

2437504
0.3504 3R 0.7486 & OFGA S G F RIS §TH $ 0T ITH 1 gl ST Ffge?
0.73769056
A
0.73769056
2.78658896
B
2.78658896
0.428444
G
0.428444
0.658555
D
0.658555

Correct Ans : A
Subject : General Maths

Q.No: 70 A, B and C together earn Rs 150 per day while A and C together earn Rs 94 and B and C together earn Rs 76. The daily earning of *C’ is

2437564
A, B 3R C TF 919 150 T9 TR o HHIA § e A 3R C UF WY 94 T HAN § 3R B 3R C Wiy feia 76 TU8 FAR §) C 3 35 a1 ¥
Rs 56
A
56 ¥0
Rs 20
B
20 ¥

cC De A
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34 700
Rs 75

75 39

Correct Ans : B

Subject : General Maths

Q.No: 71 If in a symbolic language ‘PHYSICS' is written ‘KSBHRXH' then ‘BIOLOGY’ will be written in the same language as?

2422553
I et Wihfde | & 'PHYSICS' &1 'KSBHRXH' fera ¢ @t 'BIOLOGY' &1 It w1 H feran s forg?
XRLOLTB
A
XRLOLTB
TRLOLTB
B
TRLOLTB
YRPOLTB
C
YRPOLTB
YRPOPTB
D
YRPOPTB

Correct Ans : B
Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘ONE’ is written ‘PMF’ and ‘TWO’ is written *SXP’ then ‘TEN’ will be written in the same language as?

2422583
I foreft wichfae Hmm & 'ONE' &1 'PMF' foram ST & 1R 'TWO' &1 'SxP' ferar oimar & a 'TEN' 31 St et & feran smom fort?
MSF
A
MSF
FMS
B
FMS
SFM
c
SFM
SMF
D
SMF

Correct Ans : C
Subject : Mental Ability

Q.No: 73 In a certain language , 'uat veku’ means 'good man’, 'neta velu' means ‘beautiful flowers' and *meta velu veku’ means ‘good beautiful woman’, then which word in that
2434404 |anguage means ‘woman’ ?

e fAfid W #, ‘uat veku’ @7 31 R ‘good man’, ‘neta velu’ @1 3 § ‘beautiful flowers’ 3R ‘meta velu veku’ T 31 § ‘good beautiful
woman’, df 39 4T & o =reg 1 9f ‘woman’ 2

meta
A

meta

velu
B

velu

veku
C

veku

D neta
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neta
Correct Ans : A
Subject : Mental Ability

Q.No: 74 If the word DEFEAT is coded as FCHCCR, then how will word BATTLE be coded?

2434440

Jfe Y6 DEFEAT @1 FCHCCR ¥ Feds 541 OY, dl BATTLE ¥eg 1 fh YR Fe fbar smem?

DXVRNC
A

DXVRNC

DYVRMC
B

DYVRMC

DXVRMC
C

DXVRMC

DYVRNC
D

DYVRNC

Correct Ans : D

Subject : Mental Ability

Q.No: 75 In a class of 40 students. Where girls are thrice that of boys, Kapil ranked fifteenth from the top .If there are 7 girls ahead of Kapil. How many boys are after him in rank?

2435336

40 BHE B TP Hen F g7 TSfbal dsl B gad # T §, FT FW A Used RE | 31 3 S A om 7 wsfrai €1 e & 18 fhan as@ §2

18
A

18

5
B

5
c

2

3
D

3

Correct Ans : C
Subject : Mental Ability

Q.No: 76 In question below are three statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance
2435476 ¢om commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

1. Some dates are figs.
II. All figs are grapes.

II1. All grapes are guavas.
Conclusions:

I. All guavas are dates.

II. Some grapes are dates.

= fou ey ® M e AT e § R are &) e 1 iR 11 T T B et T T Sl Y e A €, 4§ 3 e gl § s a8 8 ofR R qa Y i e fae feg e
FYH BT AHD T Y AR H 2|

B
1. % TR 3O §
11 Tl 3R SR B
11 @ff 3R omreg €
frsp:
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Lo WA VAW VIR R

11. $B 3R TR ¢

Neither conclusion I nor II follows.

A
3 Frepe 1 o 1 € 11 SR aRaT B
Either conclusion I or II follows.
B
T &t forsedd 1 a7 11 SR R B
Only conclusion II follows.
C
Faa Py 11 SRR B 3
Both conclusions I and II follows.
D

3t e 1 iR 1T 3R R §

Correct Ans : C

Subject : Mental Ability

Q.No: 77 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at variance with commonly
2435536 ynown facts, decide which of the given conclusions logically follow(S) from the statements.

Statements:

All trees are bench.

All entrances are trees.

No gate is a bench.

Conclusion:

i. At least some trees are gates.

ii. No gate is an entrance.

fw M FAT AR Pl B eFgde ug) a8 W U 6 Sy H f I IreR 99 7, Hd @) 98 9w R 9 audl $ ary famRo v 11, 7w Fofa & 5 e e Pl # @ o 973 e
13T U Bl BT Al U Y SRR BRal B

FU:
i A, 9

wft e, d 8
1 e, 39 7 3

s

. PAIFAFS I, T
ii. ® fie, U 09 7 81

If only conclusion I follows.

Tfe; Sae Py T SR Sl §

If only conclusion II follows.

Tfe; Fraet Py 11 IR0 HRaT §

If either conclusion I or conclusion II follows.

TR 1 & e 1 1 P 11 SRR el &

If neither conclusion I nor conclusion II follows.

gfe; 7 <t fspef 1 7 & P 11 SrgeRe FRan §

Correct Ans : B
Subject : Mental Ability

Q.No: 78 How many small cubes are obtained when we cut the cube using 9 cuts, which are distributed evenly in the three planes X, Y and Z?

2438396
9 gH 9 Fel BT JUUNT IR U B BIed 8, ol dF dall X, Y R 2 & T wu I fafa 919 € @ fran 81 v7 wia €9 82
a9

A
49
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64

81
C

81

27
D

27

Correct Ans : B
Subject : Mental Ability

Q.No: 79 A cube is painted and cut into 150 smaller but identical pieces by making the minimum possible number of cuts. What is the minimum number of cuts required to cut a cube?
2438424

TF T 31 Ye foan aman 3, Rred et ot Fran Sya @1 1, 150 SR Al THH gHe! § $1el 91l 81 T 99 &1 Hled $ U S1axe Jaad Hel 3t 9 i R/ g2

13
A

13

12
B

12

11
C

11

10
D

10

Correct Ans : A

Subject : Mental Ability

;2‘-"“;;58509 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
P=U<M<KE<ZI>N
Conclusions:
I.LN>2K
ILI>P

fAFaTaad 9 &, FUET & dIg ey 6T 1T £

U 3T AT & HTUR R FASHY @7 eI L AT 379 3l & &9 F 359G [adved H ade F
Fu:

P=U<M<K<I>N

forsad:

LN2zK

ILI>P

If only conclusion I is true

A
o Faa rpd 1T §
If neither conclusion I nor II is true
B
gRAA TS RTIR I TTE
If only conclusion II is true
C
TR Faw e 11 T
If either conclusion I or Il is true
D

gfe; a7 o fised 1T 11 WA ®

Correct Ans : C
Subject : Mental Ability

Q.No: 81
2438609
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1N e TolowINg question, the statements are Tollowed Dy CONCIUSIONS. Study the CONCIUSIoONS Dasea on the given
statements and select the appropriate option as your answer.

Statements:

Q=PJT2AYR=S

Conclusions:

I.R¥Q

II. S5 Q

fFATaTdd e &, FUat & arg fased fgu e §)

T 31T FeAt & HTUR R ARy &1 et H{ A 39e Sk & §F F 59 faded & ag B
U

Q=PYT2AYR=S

s

L.R¥Q

I.S>Q

If only conclusion I is true

A
Faa i 199§
If only conclusion II is true
B
o Py 1190 ¥
If either conclusion I or conclusion II is true
C
a1 <t A 191 11 W 7
If neither conclusion I nor conclusion II is true
D

TR I RTRIITTY

Correct Ans : A

Subject : Mental Ability

Q.No: 82 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance
2439095 from commonly known facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statements:
No cat is a bat.
No bat is a rat.
Conclusions:

I. No cat is a rat.

II. Some rats are not bats.

F R T vy & & e qur 9 U <) sy 1 aun 11 g e ¥ | e Ry T wud B 9 T @, HE € 98 Sdad aeli & fir el 21 8 9u1 e SR W ST e IW A E |
FY:

15 W foweht wATEs e 7

P THES Tl T 81

frp:

1. 3 foreeht @1 1 R

11 $B I¢ INGS Tl €1

Conclusion I follow

A
e 1 SFTERY R B
Conclusion II follows
B
frep 11 3R el 1
Neither I nor II follows
C
T s 1 30R T & 1T SRR e B
Both conclusion I and II follow
D

frpy 1 iR 11 QT SRR IR B

Correct Ans : B
Subject : Mental Ability
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Q.No: 83 Iflight’ is called ‘morning’, ‘morning’ is called ‘dark’, ‘dark’ is called ‘night’, ‘night’ is called ‘sunshine’ and ‘sunshine’ is ‘dusk’, when do we sleep?
2439278

IR "THTY BT GG B Y, YIS B SO el Y, S B I Fe A, W P YW FYT G AR 'YW BN WO el g, A 79 F W 82

Night
A

RiG)

Sunshine
B

Lol

Dusk
c

m

Dark
D

3RT

Correct Ans : B

Subject : Mental Ability

Q.No: 84 Arrange the following words as per their order in the English dictionary.
2442733

1. Situation

2. Silver

3. Sitter

4. Simple

5. Signal

frofafad sl 1 ol Tsed A U U H0 & srER fafdul
1. Situation

2. Silver

3. Sitter

4. Simple

5. Signal

51,3,2,4

5,1,3,2,4
1,4,2,53

1,4,2,53
5,2,4,3,1

5/24,3,1
4,2,1,5,3

4,2,1,5,3
Correct Ans : C

Subject : Mental Ability

Q.No: 85 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2442774

ADOPTION

fow T dfores Wl F & 9% Wex T S T T WE F 14 1 T R TG S S G|
ADOPTION

Option

Option
B Paint

GET IT ON

Google Play
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ran
Nation
C
Nation
Motion
D
Motion

Correct Ans : D
Subject : Mental Ability

Q.No: 86 Working 9 hours a day, Rohit can copy a book in 19 days. How many hours a day should he work so as to finish the work in 13 days?
2423718

MR @ A H 9 6¢ T S T fHaa 31 19 A & F1f TR Gavan 81 13 oA ¥ om @3 T & g 3§ e & fvam 9 Hm oo aifge?
79.42 hours/day

A
79.42 ¥¢/feA
87.43 hours/day
B
87.43 We/feA
47.34 hours/day
C
47.3a 9e/fA
13.15 hours/day
D

13.15 6e/f

Correct Ans : D
Subject : General Aptitude

Q.No: 87 A and B can do a piece of work in 11 days; B and C in 13 days and A and C in 15 days. In what time can they do it, all working together?

2423736
AR B TF S Bl 11 R § 7 ¥aa §; B ok ¢, 13 A1 F ok B ofR ¢, 15 =i 71 3 T+l v Wi 1 Xl §U 3H b w9 A IR THa 82
9518/345 days
A
9518/345 &7
2213/234 days
B
2213/234 fA
3456/321 days
c
3456/321 f&7
4290/503 days
D

4290/503 f&
Correct Ans : D
Subject : General Aptitude

Q.No: 88 Ifsquare’s area is 256 cm? then, calculate the length of the side of square.

2426203
IfE T et T aTAmer 256 AR §, v aet & fran dr ofars g8
24 cm
A
24 Fdftex
23 cm
B
23 ¥diiex
16 cm
C

16 JHieR

GET IT ON

Google Play
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25 e

Correct Ans : C

Subject : General Aptitude

Q.No: 85 Which of the following is divisible by 12?

2427601
frofafed & § o9 12 § fausa §2
129807
A
129807
654789
B
654789
657231
c
657231
120048
D
120048

Correct Ans : D

Subject : General Aptitude

Q.No: 90 Which of the following is divisible by 13?

2427614
e & 4 3 13 F s 32
43267
A
43267
356788
B
356788
985652
c
985652
382613
D
392613

Correct Ans : D

Subject : General Aptitude

Q.No: 91  Which of the following is divisible by 7?

2427627
Frufifea & @ o1 7 4 favrsa &2
99867
A
99867
34098
B
34098
164178
¢
164178
69567
D
69567

Correct Ans : D
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Q.No: 92 Which of the following is divisible by 23?

2427645
fofifed 7 § 3 23 F frsa 2
114152
A
114152
8264910
B
8264910
8472519
c
8472519
4178174
D
4178174

Correct Ans : A

Subject : General Aptitude

Q.No: 93 The total age of A and B is 12 years more than the total age of B and C. C is how many years younger than A?
2431182 A 3k B 1 Hd 3Mg B R C B ol Y A 12 It 345 & | C, A q b ad Bler B2

12
A 12
24
B 24
6
c 6
o
b
o

Correct Ans : A

Subject : General Aptitude

Q.No: 94 Thrice a number exceeds its three-fourth by 36. Find the number?

2431193

TH &1 @1 AT o - @ 36 A oifire 31 <ie wra @R

14
A

14

12
B

12

16
c

16

18
D

18

Correct Ans : C

Subject : General Aptitude

Q.No: 95 The value of k for which the system of equation kx+2y =5, 3x+y =1 has no solution, is:
2431247 3y 4y = 1 HIGI kx + 2y = 5 B BIS 6 781 € o k BT HH ©-

5
A 5

2

3
B

2

3
C

o
Niw oo
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3
2

Correct Ans : C

Subject : General Aptitude

Q.No: 96 In the given figure, ABCD is a || gm in which diagonals AC and BD intersect at O. If ar(ll gm ABCD) is 56 sq. cm, then the ar (AOAB)(in Sgq. cm) =?
2431318
C 2

A 3

ABCD T THicR Tg4s & frids el AC auT BD ReR fiig 0 W @red &1 aft &7wa (IniR agyst ABCD) = 56 @i Qift it &wa (A0AB) (af el = 2

C )

A 8
28
28

22
22

42
42

14
14

C

D

Correct Ans : D

Subject : General Aptitude

Q.No: 97 A circular park is surrounded by a road 14 m wide. If the radius of the park is 112 m. Find the area of the road?
2433735

TE qAPR U 14 Hex NSt TeF A forn gan §1 afe urdh 35t B 112 . w56 &1 dawa 31 wifow?

10,472
A

10,472

11,472
B

11,472

12,472
C

12,472

13,472
D

13,472

Correct Ans i A

Subject : General Aptitude

Q.No: 98 A right -angled wiangle whose sides are 6(v3 — 1) cm, 8(v/3 — 1)em and 10(+v/3 — 1)cm. Find the area
2433765 o o en

T R g e e 6(v3 - 1) ¥, 8(v3-1) W eRi0(v3-1) FE

[EREEIEELTEICEAE L
24
A
24
24(3-1)
B
24(3-1)
48(2-+/3)
c

48(2-+/3)
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v 24(4 —y6)

24(4 —/6)

Correct Ans : C

Subject : General Aptitude

Q.No: 99 By how much is three-fifth of 350 greater than four-seventh of 210?
2444526 350 H1 JF-UEdT HI,210 F TR-Td U Y T s gm ?

210
A 210
95
B 95
110
c 110

D None of these.
T § P T
Correct Ans : D

Subject : General Aptitude

Q.No: 100 what should come in place of question mark ‘?’ in the following number series?

2444700
15, 51, 216, 1100, ?, 46452
i v # U1 [ (2) & RFA R & S
15, 51, 216, 1100, ?, 46452
4630
A
4630
6630
B
6630
5630
C
5630
7630
D
7630

Correct Ans : B

Subject : General Aptitude
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